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SECTION - A 

I) Choose the correct answer from the given options.                                               (1 × 5 = 5)                                              

1) How many corners does the below shape have? 

 

 

 

 

 

a) 4 b) 5 c) 6 d) 7 

 

2)  Multiplicand × Multiplier = _________________. 

 

a) Product  b) Sum c) Quotient d) Difference 

 

3) 526 × 10 × 1 = ? 

 

a) 5200 b) 5620 c) 5600 d) 5260 

 

4) 6 × ______ = 60 

 
a) 12 b) 10 c) 20 d) 16 

 
5) Identify the open figure. 
 

a)  b)  c)  d)  
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SECTION - B 

II) Do as directed.                                                                                                         (1 × 3 = 3)                                                                             

 1. Draw line of symmetry for the following. 

 

a) b) 

 

2. Identify the shape for the following object. 

 

 

 

 

 

 

    

3. Draw a line segment and a ray in the space below. 

                        Line segment                                                         Ray 

 

 

SECTION-C 

III) Answer the following.                                                                                        (½ × 12 = 6)                                                                 

1. Fill in the blanks.  

a) 22 × 0 × 4 = ____________ 

b) 9 × 200 =  ______________ 

c) _______ × 1000 = 5000 

d) The number of faces in a cuboid is __________. 

e) A ____________ does not have beginning and an end. 

f)  A line joining two opposites corners of a figure is called its __________________. 

a) b)  

       

Ans._____________________________ 

 

Ans._____________________________ 
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2. Write true or false. 

a) 3 + 3 + 3 + 3 + 3 + 3 = 6 × 3 = 18  

b) A hemisphere has 6 faces, 8 corners and 12 edges.   

c) 9 × 7 = 63  

d) A ball is an example of sphere.   

e) 50 × 3 = 5 × 50  

f) A circle has two corners.  

 

SECTION – D 

IV) Solve.                                                                                                                       (2 × 3 = 6)                     

1. Multiply.                                                                   

a)  

  9 3 2 

×    3 

=     

b)  

  2 5 8 

×    7 

=     

 

2. Match the following. 

a)   

i) opposite sides are equal  

 

b)   

ii) 3 sides and 3 corners 

 

c)   

iii) no sides no corner 

 

d)   

iv) all sides are equal 
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3. Word problem.                                                                                           

 

There are 225 trees in a row. How many trees will be there in 12 such rows? 

 

 

Ans. _____________________________________________________ 

 

_________________________________________________________ 

 

_________________________________________________________ 

 

_________________________________________________________ 

 

                            

 

 

 

 

 

 

*********** 
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SECTION - A 

I) Choose the correct answer from the given options.                                               (1 × 5 = 5)                                              

1) Multiplicand × Multiplier = _________________. 

 

a) Product b) Difference  c) Sum d) Quotient  

 

2) 854 × 1 × 10 = ? 

 

a) 5840 b) 8500 c) 8540 d) 5800 

3) How many corners does the below shape have? 

 

 

 

 

 

a) 4 b) 7 c) 5 d) 6 

 

4) 7 × ______ = 70 

 

a) 7 b) 10 c) 17 d) 20 

 

5) Identify the open figure. 

 

a)  b)  c)  d)  
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SECTION - B 

II) Do as directed.                                                                                                         (1 × 3 = 3)                                                                             

 1. Draw line of symmetry for the following. 

 

a)  b) 

 

2. Identify the shape for the following object. 

 

 

 

 

 

 

    

3. Draw a line segment and a ray in the space below. 

                          Line segment                                                           Ray 

 

 

SECTION-C 

III) Answer the following.                                                                                        (½ × 12 = 6)                                                                 

1. Fill in the blanks.  

a) 84 × 0 × 2 = ____________ 

b) The number of faces in a cuboid is __________. 

c) 4 × 400 =  ______________ 

d)  A line joining two opposites corners of a figure is called its __________________. 

e) _______ × 1000 = 9000 

f) A ____________ does not have beginning and an end. 

a) b)  

       

Ans._____________________________ 

 

Ans._____________________________ 
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2. Write true or false. 

a) A ball is an example of sphere.  

b) 9 × 7 = 63  

c) A circle has two corners.  

d) A hemisphere has 6 faces, 8 corners and 12 edges.  

e) 3 + 3 + 3 + 3 + 3 + 3 = 6 × 3 = 18  

f) 50 × 3 = 5 × 50  

 

SECTION – D 

IV) Solve.                                                                                                                       (2 × 3 = 6)                     

1. Multiply.                                                                  

a)  

  6 3 1 

×    3 

=     

b)  

  2 7 3 

×    8 

=     

 

2. Match the following. 

a)   

i) opposite sides are equal  

 

b)   

ii) 3 sides and 3 corners 

 

c)   

iii) no sides no corner 

 

d)   

iv) all sides are equal 
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3. Word problem.                                                                                            

 

There are 315 pages in a book. How many pages are there in 12 such books? 

 

 

Ans. _____________________________________________________ 

 

_________________________________________________________ 

 

_________________________________________________________ 

 

_________________________________________________________ 

 

                            

 

 

 

 

 

 

*********** 
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